INDUS FRIAEAEUMINIUM PROEIEESYSTENMS

Systems Chassis Conveyors Machine

A\luminium
Profile

MODULAR CONSTRUCTION TECHNOLOGIES

KATAAOIOz
2019

e-malil: sales@aluminium-profile:gr
www.aluminium-=profile.gr




| -
TIMH/m
KOMMATI
\_ %
i i TIMH/
Code Product Name Material Moment of Inertia__|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 63 20x20 6063 | 0,61cm’ | 0,61cm’ 0,61cm® | 0,61cm® | 1,42cm? |0,36 Kg/m
6 8 10
£2 (
1.4
TIMH/m
KOMMATI
o
i i TIMH/
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx | Wy
M 63/A 25x25 6063 | 1,39cnt | 1,39cnm? | 1,11cm’ ‘1,11cm3 2,12cm? | 0,55 Kg/m
6 8 10 s
| 0
10 20 10
S
N m]:
ol w
KOMMATI
]
\_
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 99 20x40 6063 | 4,17cm® | 1,12cmt’ 2,08cm®* | 1,12cm® | 2,6cm? |0,73 Kg/m
6 8 10
(> 4
80
20 ‘ 20 ‘ 20 10
»
. Bl J1 I
g =) - -
2V
T KOMMATI
3l
- o
i i TIMH/
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 95 20x80 6063 |29,14cm’| 212cm' | 7,28cm* | 2,12cm® | 4,88cm? | 1,32 Kg/m

2

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles // T Slot Profiles Aluminium
Profile
6 8 10
(- | e
30
23,5
vy
&S
2 ':,} 7
2 NN 55 TIMH/m
/ KOMMATI
o 8,2
K
) N
i i TIMH/
Code Product Name Material | _Moment of Inertia_ |Moment of Resistance| /| o | yeignt
Ix ly Wx Wy
M 22 30X30 6063 | 2,95cm’ | 2,95cmi | 1,97crh | 1,97cn? | 3,16cn? | 0,85 Kg/m
6 8 10
£.2 ~ ™
TIMH/m
KOMMATI
N J
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 30X45 D 30x45 6063 | 3,02cm' | 4,57cm’ | 21cm® | 22cm | 3,35cm’ 0,91 Kg/m
6 8 10
-
60
53,5
»
ﬁc 7 Q 7 > -
o2 N,tv ' ! u
SN oWy .
S KOMMATI
i3
9 30 |
o> NG
M t of Inertia  |M t of Resist
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight 6m BEPTAZ
2 Iy W Wy
M 26 30X60 6063 | 20,12cm’| 546cnm | 6,71cn? | 3.64cm® | 5,59cnf | 1,51 Kg/m
6 8 10 ]
2 (
90 = 2
83,5 2 P
~ :
L TC_J = 3 6 O
1 KOMMATI
7
& 30 30 N
i i TIMH/m
Code Product Name Material Moment of Inertia_ jMoment of Resistance Volume | Weight
I Iy W Wy
M 19 30X90 6063 | 63,29cn | 7,99cm | 14,06cnt | 5,32cm’ | 8,12cm? | 2,19 Kg/m

3

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Ve
TIMH/m
KOMMATI
- 60 _ -
Code Product Name Material Moment of Inertia_|Moment of Resistance Volume | Weight
Ix ly Wx Wy
HEX 30 HEXAGON STAND 30 6063 | 14,6 cm* | 14,9 cm* cm’® cm* 6,3 cm’ | 1,72Kg/m
6 8 10
-~
u 35
(m L]
g a7
KOMMATI
22|
o
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix |y Wx W)'
M 11 35X35 6063 | 4,55cm* | 455cm* | 2,6cm’ | 2,6cm’ | 3,67cm?® | 0,98 Kg/im
6 8 10
(> | -
35
wn
(5ol
TIMH/m
KOMMATI
-
M t of Inerti M t of Resist:
Code Product Name Material oment of ‘nertia oment of ResIStance yvolume Weight
Ix ly Wx Wy
M 11/A 35x35 Heavy 6063 6,7cm’ 6,7cm’ 3,8cm’ 3.8cm’ | 4,92cm’ | 1,29 Kg/m
6 8 10
£ (
120
20 40 ) 40 20
< 5 (\l_ -. % %]b
<+| «@| o TIMH/m
w' O
s W WA
’ &
M fl i i TIMH/
Code Product Name Material oment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 21 40x120 6063 |200,5cm’| 257cm®| 33,1cm? 13,2cm’ | 13,93 cm?| 3,76 Kg/m
4 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles // T Slot Profiles
6 8 10

‘ ‘ 40 4
(&5
2 o
N f,
TIMH/m
KOMMATI
-
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 04 40x40 6063 | 7,10cm’ | 7,10cm’ | 3,55cnt | 3,55cm’ | 4.49cm’ | 1,21Kg/m
40 4
6 8 10 05
o
<
TIMH/m
KOMMATI
NG
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 04/A 40x40 Heavy (S10) 6063 | 10,37cr | 10,37ci | 6,05cm> | 6,05cm® | 6,12cm’ |1,65 Kg/m
40
6 8 10 4
» »
?' 2
‘ l . TIMH/m
KOMMATI
NG
M f Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 04/G 40x40 Heavy (S8) 6063 | 12,1cm’ | 12,9cm’ | 5,18cm> | 5,18cm’ | 7,32cm’ |1,98 Kg/m
6 8 10
L3 0
e O e
] [ )
KOMMATI
60 \
Moment of Inertia |M t of Resist TIMH/m
Code Product Name Material ! oment of Resistance Volume | Weight
Ix ly Wx Wy
M13 45x60 6063 |31,29cm'| 1845cm | 10,4cn? | 8,2cm> | 9,45 cm? | 2,61 Kg/m

5

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



>

45

-

TIMH/m
KOMMATI

(S

Code Product Name Material | Moment of Inertia | Moment of Resistance| /.o | weignt
Ix ly W Wy
M12 45x45 6063 | 11,09 cm®| 11,00 cm*| 4,93cm® | 4,93cm’ | 562cm?® |1,52 Kg/m
6 8 Ve
TIMH/m
KOMMATI
\§
M f Inerti i
Code Product Name Material oment of Inertia_|Moment of Resistance Volume | Weight
I ly Wx Wy
M 12/E 45x45 Heavy 6063 | 15,65 cm?| 15,65 cm*| 6,9cm’ 6,9cm® | 7,63cm? |2,06 Kg/m
6 8 10
£3 [
90
77,5 F 1
) N
! j TIMH/m
KOMMATI
o
i i TIMH/
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix Iy Wx Wy
M10 45x90 6063 |78,98cm' | 20,74 cm' | 17,5cm® | 9,2cm® | 9,63 cm? | 2,60 Kg/m
6 8 10
£ g
90
78,5
N TIMH/m
KOMMATI
\§

oz

M f Inerti M f Resi TIMH/
Code Product Name Material oment of inertia oment of Resistance Volume | Weight *6m BEP'?AE
Ix ly Wx Wy
M 10/B 45x90 Heavy 6063 |108,14 cni| 28,67 cnl 24,03cm® | 12,74cm® |12,86 cm? | 3,47 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles // T Slot Profiles Auminium
Profile
6 8 10 80 -
‘ ‘; y 0
40
g TIMH/m
KOMMATI
-
M fl i M f Resi
Code Product Name Material oment of nertia oment of Resistance Volume | Weight
Ix ly Wix Wy
M 03 40x80 6063 | 49,98 cm | 13,13 cm | 12,49cm’ | 6,56cm’ | 7,67 cm? | 2,07 Kg/m
6 8 10 80 -
‘ ‘ £3 0
40
|
|
@ m) | , TIMH/m
N KOMMATI
Y, 8.2 S
M t of Inerti M f Resi TIMH/
Code Product Name Material oment of ‘nertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 03/B 40x80 Heavy (S8) 6063 | 82,3cm?| 20,9cm? | 17,38cn? | 9,25cm | 11,9 cm? | 2,72 Kg/m
6 8 10
50 Ve
£3
'
o 2
i s X
‘ . ‘ TIMH/m
KOMMATI
-
i i TIMH/
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 46 50x50 6063 | 24,7cm' | 245¢cn | 9,88cm> | 9,8cm® | 10cm? | 2,70 Kgim
6 8 10 Ve
| o
85,5
50
] ]
»
L J PR PR i
) KOMMATI
-
M t of Inertia |M f Resi TIMH/
Code Product Name Material oment of ‘nertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 101 50x100 6063 | 1750cm’ | 452cm® | 35cm’ | 18,4cm’ 16,92 cm?|4,57 Kg/m
7 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Ve
u 135

| 2|
< g e’
L)
45 \
Code Product Name Material —oment of Inertia | Moment of Resistance) .\ 1o | weight
Ix ly Wix Wy
M 60 45x135 6063 | 41,8cm’ | 324cm* | 6,19cm® | 14,4cm® | 18,3cm’ | 4,85 Kg/m
6 8 10

TIMH/m
KOMMATI

Code Product Name Material Momenticfiinert s Mementiofies|stance Volume | Weight
Ix ly Wx Wy
M 15 45x180 6063 | 747cm® | 56,7cm’ | 83cm® | 252cm’ | 25,1cm’ |6,77 Kg/im
6 8 10
/
£32 2
ﬁL v
o Dﬁ% T2
8 'C R
TIMH/m
KOMMATI
\k )j

-

i i TIMH/
Code Product Name Material HMomsnticfilnart 2 MementiofiRes!stance Volume | Weight
Ix ly Wi Wy
M 28 60x60 6063 |29,85cm’| 29,85 cm*| 9,9cm’ 9,9cm®> | 8,8cm? [2,46 Kg/m
6 8 10 | -
TIMH/m
KOMMATI
-
M f Inertia |M f Resi TIMH/
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 28/B 60x60 Heavy 6063 | 41cm® | 41cm? | 13,6cm’ | 13.6cn | 11,06 e | 3,27 Kg/m

8 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



M f Inertia |M f Resi
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 28/X 60x90 6063 | 59,4cm® | 122cm‘ | 26,8cm’ | 46,51cm’| 14,7cm’ | 4 Kg/m
6

.

| | -

| | |
2 37 37

Code Product Name Material | Moment of Inertia_|Moment of Resistance| /o | weignt
Ix Iy Wx Wy
M 28/Y 60x120 6063 | 80,9cm‘ | 280,4cm* | 26,8cm® | 46,51cm’ | 19,7cm’ | 5,33 Kg/m
60
6 8 10 535 ‘
(- | 4
o
Code Product Name Material |_Moment of Inertia_|Moment of Resistance| /o | weignt
Ix ly Wx Wy
M 02/B 80x80 Heavy S8 6063 41 cm* 41 cm* 13,6 cm’ | 13,6 cm® | 11,06 cm®| 3,27 Kg/m

TIMH/m
KOMMATI

TIMH/m
KOMMATI

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



(> | 4
’MJ/ /
SISIE e
1/ N @\/
TIMH/m
KOMMATI
&/ hed \
M t of Inerti M f Resi TIMH/
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 02 80x80 6063 | 88,08cm’ | 88,08cm* | 22,02cm® | 22,02cm® | 11,91cm’ | 3,22 Kg/m
80
6 8 10 70
£ [
TIMH/m
KOMMATI
-
M f Inerti i TIMH/
Code Product Name Material oment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 02/A 80x80 Heavy 6063 |127,1cm’ | 127,1cm’ | 31,78cm’ | 31,78emt | 17,77cnf | 4,80 Kgim
6 8 10
120
(- | 110 4
40 ) 40
21 @
! ﬁ ) TIMH/m
: L QL& o5 KOMMATI
7 —oa_
\V‘? \
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 02/X 80x120 6063 | 185,3cm’ | 379,5cm* | 60,55cm® | 210,95cm®| 24,3cm? |6,57 Kg/m
6 8 10
£3 [
149
. 40 § 40 §
3 %i;
! i3 a0 TIMH/m
7 @ @ @ KOMMATI
sa \_
M f Inerti i TIMH/
Code Product Name Material oment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
MG 160 80x160 6063 | 2422cm‘| 843,8cm’ | 60,55cm’ | 210,95cm? 30,5cm’ | 8,25 Kg/m

10

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10 90 | -
8
TIMH/m
\_ KOMMATI
i i A TIMH/
Code Product Name Material Moment of Inertia |Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 30 90x90 6063 |192,84cri [192,84cm' | 42,8cm’ | 42,8cn? | 20,67cn | 5,58 Kg/m
6 8 10 90
(> | 4
8
TIMH/m
. KOMMATI
&
M f Inerti M f Resi TIMH/
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
IX Iy WX W)’
M 30/A 90x90 Heavy 6063 |220,49cni | 220,49cnt | 48,9cn? | 48,9cm | 25,31cnd | 6,83 Kg/m
6 8 10 ~ - 85‘5 - ] /
K2
)
)
TIMH/m
! KOMMATI
1
o
M t of Inerti M f Resi TIMH/
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
MG 100 100 X 100 6063-T5 | 295,4 cm*| 295,4 cm* cm’ cm’ 25,5 cm’ | 6,89Kg/m
6 8 10 150 Vs
168
u 49,3 49,3
]
’
8 & 9 %
\ Q)%
- - TIMH/m
KOMMATI
¢/102 45 45 | 45 ‘ N
M t of Inerti M f Resi TIMH/
Code Product Name Material oment of 'nertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 14/L 90x180 6063 | 1240,6¢cm | 361,5cm | 137,8cm’ | 80,3cm’ | 37,1cm? | 10,01 Kg/m
1 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



TIMH/m
KOMMATI

Industrial Profiles / T Slot Profiles
6 8 10
&/ 102 ||
M fl i i
Code Product Name Material oment of Inertia_|Moment of Resistance Volume | Weight
Ix |y Wx Wy
M 14 90x180 Heavy 6063 | 1499cni | 427,6cri | 166,5cm’ | 95,02cm’ | 46,7cnt | 12,60 Kg/m
6 8 10
135
123 4
3 000 I
Iy i
%
L | LI [ 253
10,2
LT 45 45 -
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Volume | Weight
IX I)’ WX W)’
M 32/A 90x135 6063 |313,64cm’| 653cm’ | 69,18cm’ | 96,74cm’ | 34,42t | 9,26 Kgim
6 8 10
)
Code Product Name Material Moment of Inertia _|Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 32 135x135 6063 |897,64cm| 897,64cni| 132,91cm’|132,91cm’ | 44,52¢n? | 12,02 Kg/m

12

TIMH/m
*6m BEPTAZ

TIMH/m
KOMMATI

TIMH/m
KOMMATI

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



6 8

10

Industrial Profiles / Surface Coating Profiles /A

uminium
-

1
S

.

Code

o
Product Name

Material Moment of Inertia
Ix

M 17 15x120

6

10

TIMH/m
KOMMATI

Moment of Resistance
|y Wi
6063 105,7cm4‘ 2,1cmtt

Vol
Wy olume

2,8cm3

Weight
17,6cm’

8.6cnt | 2,33 Kg/m
p

180
225 45

45 45

225

225

02

82
L

Code

g
Product Name Material Molr:lent of Inertia
M 16 22,5x180

Moment of Resistance Volume
|y Wx Wy
6063 |570,9cm’ | 11,7cmi | 63,43cm | 10,4cnt
10

L4

TIMH/m
KOMMATI

Weight

21,1cm? | 5,70 Kg/im
-

140
35 )

‘ 70 35

22

22 |

e

»
i

. »

Code

o
Product Name Material Moment of Inertia |Moment of Resistance Volume
Ix ly Wx Wy
M 15 ZE 22x140 6063 | 365cm* | 7.2cm' | 52,14cm’
6 10
(|

TIMH/m
KOMMATI

G

Weight

6,54cm’

5,39 Kg/m

Ve
170
42,5 ) 85

42,5
=3

27

=2

64|
26,5 | 117

. ”
265 |

A

Code

o
Product Name Material Moment of Inertia |Moment of Resistance Volume
Ix ly Wx Wy
M 20 ZE 27x170 6063 | 852cm* | 16,8cm’

100,2cnt® | 12.4cm® | 32,44cnf
13

TIMH/m
KOMMATI

-

Weight

8,79 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



Industrial Profiles // Radius & Angled Profiles /A uminium
Profile

6 8 10
S r \

TIMH/m
KOMMATI

- J
M f Inerti M f Resi TIMH/
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 63/R 20x20 Radius 6063 |0,65cm’ | 0,65cm’ | 0,61cm® | 0,61cm® | 1,42 cm? | 0,38 Kg/m
6 8 10 p
(> |
g ] \
| '4
TIMH/m
KOMMATI
\-
Code Product Name Material Moment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wx Wy
M 22/R 30x30 Radius 6063 |2,15¢cm’ | 2,15¢cm’ | 1,30cm® | 1,30cm® | 2,78 cm? |0,77 Kg/m

TIMH/m
KOMMATI

=
ey :&\4

M fl i M f Resi TIMH/
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
M 21/R 45x45 Radius 6063 | 85cm® | 85cm* | 3,38cm® | 3,38cm® | 4,46 cm? | 1,24 Kg/m
6 8 10 Ve N
(| 40

40

. ~
). -

‘ 8,2

TIMH/m
KOMMATI

- /

Moment of Inertia |Moment of Resistance TIMH/m
Code Product Name Material I | ! W. IW Volume | Weight *6m BEPTAZ
X y x Y

M 39/A 40x40 (45°) 6063 4.4cnit 4,4crt 1,90cm | 1,90cm® | 3,43cm? | 0,93 Kg/m
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.

14



g
© S

M f Inertia |M f Resi TIMH/
Code Product Name Material oI:(nento mlayrtla on\;s:to est&:nce Volume | Weight
M 22-K 30x30 Closed 6063 | 3,17cnf | 3,18cm | 2,05cm® | 2,05cm’ | 3,37cmi | 0,91 Kg/m
6 8 10
4 R (
o *- a9 “
< - 1
(G »
ll&%‘ TIMH/m
KOMMATI
o
M t of Inertia |M t of Resist TIMH/
Code Product Name Material olinen ° nley a or{\;: o es'\jvjnce Volume | Weight
M 04-K 40x40 Closed 6063 | 7,24cm' | 7,.27cm' | 3,52cm’ | 3,52cnt | 4,6cm? | 1,27 Kg/im
6 8 10
(> | 45 e
32,5
| dbN
1 =
~ TIMH/m
” KOMMATI
@/ 10,2 \
M t of Inertia  |M t of Resist TIMHI
Code Product Name Material "Ii"e" 2 "fy 1 °r3$: o es'\jvj"':e Volume | Weight
M 05-K 45x45 Closed 6063 | 11,78cm’ | 11,78cm’ | 524cm’ | 5,24cm’ | 5,90cm’ | 1,59 Kg/m
6 8 10
(- | o -
40
I 5] r
g
N
J) TIMH/m
102 KOMMATI
.
M t of Inertia |M t of Resist TIMHI
Code Product Name Material oll;nen ° nley a or{\;: o es'\jvjnce Volume | Weight
M 03-K 40x80 Closed 6063 | 50,9cm’ | 12,9cm’ | 12,57cm | 6,23cm® | 7,7cm? | 2,04 Kg/im

15 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



25,75

18

Code Product Name Material Molment plllu=itane MolneapRResisiance Volume | Weight
X ly Wx Wy
MG 37 SLIDE PROFILE 18 X 37 | 6063 | 1,37 cm* | 4,15 cm* cm® cm® 3,37cm” | 0,89 Kg/m
6 8 10
(- | e
3,7 ]
3,65
8,5 Q:\
5y L E N
o5
28
KOMMATI
Code Product Name Material MoITent oflncleyrtia Morcs::t | Resi\j;:nce Volume | Weight
MG 28 SLIDE PROFILE 18 X 28 6063 1,09cm* | 2,24 cm* cm® cm’® 3,37cm2 0,76 Kg/m
oD|  Kobiksc Bapog | AiacTdoeig (mm) Mrkog: 6000 xIAlooTd (KTC;',\",,*,J,’X‘T, XGJ“‘QE{,'FAQ
kg/m | "pA H |[H1, B |@d1 C1] C2 |KDIN 6912
12] MDP12 | 069 | 40|22:01] 5 2945 50 75 Max6 QL DC D
16| MDP16 | 084 45 2601| 5 33 55 50 100 M50 @ DED)
20| M DP 20 123 | 5232015837 65| 50 100| M 6x25 ..
, ’ : 25| MDP25 1,44 | 57 36701 6 | 42 6,5 60 |120| M 8x30 ..
| e 30| MDP30 2,00 |69 |42'0,15 7 | 51 |85/| 75150 M 10x35 ..
e 40| MDP 40 2,60 | 73 |/50°0,15| 8 | 55| 9 |100/200 M 10x40 ..

* ZTA TTAPATTavw TTPo@il dev repiAapBdavovTal ol dSoveg
*EAAXIZTO MHKOZ KOMHZ 1200 xIA.

16



Industrial Profiles / Conveyor Profiles A\luminium
6 8 10 23 Ve
s &
el 4
N
ol
o0
L1
2 <! o
T~y M
J
To)
©
| 1 -
Code Product Name Material | Moment of Inertia_|Moment of Resistance| ,, .o | \eight
Ix ly Wx Wy
M 24/D 23x75 6063 | 3,11cm® | 26,03cm* | 3,65cm’ 3,65cm® | 4,86cm® 1,31 Kg/m
6 8 10
| 4
127
| 64 225
- | 285 (( 44 ( Bj
N
\ CJ CJ
82|
TIMH/m
KOMMATI
-
M f Inerti i
Code Product Name Material oment of Inertia_|Moment of Resistance Volume | Weight
X Iy Wi Wy
M 29 23x127 6063 | 114,60m' | 55cm* | 17,47cm’ | 4,8cm® | 7.4cm? | 2,05 Kgim
6 8 10
£ (
17,5 17,5 42,3 27,7
|3
sy B e B
¥ lo.s| TIMH/m
- KOMMATI
105
-
Code Product Name Material Nomentietiinert sl Mementiofifies!siance Volume | Weight
Ix ly Wx Wy
M 29/A 25x105 6063 | 87,1cmi | 24cm® | 15,07cm’ | 1,49cm | 7.45cmt | 1,98 Kg/im
6 8 10
L4 4
32.95 . 18.5_, 62.7 . 18.5_,17.35
3
9
T
EJ b
150 TIMH/m
KOMMATI
- %
Code Product Name Material Homentiofiipert s MementiofiRtes!stancs Volume | Weight
Ix ly Wx Wy
M 29/B 25x150 6063 | 87,1cm | 24cm® | 11,46cm’ | 1,9cm | 7.45cef | 2,90 Kg/im

17

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.



. . Conveyor/Panel ' . .
Industrial Profiles // Floor cover.Eiofine A F‘,J["JQ".JF'!

6 8 10
25 /

= .

yt
Wy

I
]

‘10,2‘

75

TIMH/m
KOMMATI

&

Moment of Inertia |Moment of Resistance Volume | Weight

Code Product Name Material I Iy Wi Wy
M 24 45x75 Conveyor 6063 | 23,46cm' | 45,80cm’ | 10,7cmt | 9,21cm’ 9,42cm’ | 2,56 Kg/m
6 8 10 22,5
£2 82
Ve
N
1
(OF
To)
q- x
' TIMH/m
KOMMATI
N\
Moment of Inertia |Moment of Resistance TIMH/
Code Product Name Material ™ Iyl Wi IWy Volume | Weight
PP 45 Panel Profile 22,5x45 6063 | 2,95cm* | 8,15cm* | 0,42cm® | 0,82cm’ | 4,63cm’® | 1,25 Kg/m
6 8 10
Ve
40 }
20
Q{b?f
I
——1 KOMMATI
ls
o

TIMH/m
Moment of Resistance *6m BEPTFAZ

Volume | Weight

X Moment of Inertia
Code Product Name Material ™ Iy » ]
61cm’ 69cm’ 04cm® | 0,55 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA.

FC 40 Floor Cover Profile 10x40 | 6063 | 3,37cm’ | 20cm*

18



Profile
6 10

8
‘ ‘
4 N 4 7 N
;'“ K
[
~a ®
< «
<
& J & J
) . o TIMH
Code Profile External Product Name A B C D H Material Weight KOMMATI
M 53 30x30 Straight Corner Connection 28 |22.5| 40 | @6 | 7 | Aluminium 21 gr
M 53/C 40x40 Straight Corner Connection| 37 | 37 | 20 (@8.2| 6.5 | Aluminium 39gr
M 53/A 45x45 Straight Corner Connection| 42 | 42 | 225 | @8.2| 7 Aluminium 56 gr
M 53/B 80x80 Straight Corner Connection| 76 | 20 | 76 |@8.5| 8,3 | Aluminium 206 gr

6 8 10

[ i < | |
4 ) 4 ! } )
\ N
Code Prof External Product Name H W | D | Material | Weight
M 54/K 20-25 Wide Corner Connection 20 | 17.5 | 5 | Aluminium | 155gr
M 55/G 30x30 Wide Corner Connection 28 | 28 |6.5| Aluminium | 415 gr
M 55/H 40x40 Wide Corner Connection 37 | 37.7 | 9 | Aluminium | 49gr
M 54/G 45x45 Wide Corner Connection 44 | 43 | 9 | Aluminium | 75gr
M 54/F 60x60 Wide Corner Connection 57 | 57 | 6.5| Aluminium | 98gr
M 54/1 80x80 Wide Corner Connection 78 | 77 | 10 | Aluminium | 226 gr
M 52 90x90 Wide Corner Connection 84.7| 86.5 | 9 | Aluminium | 366 gr
M 96/K 20-25 Wide Corner Connection Cover - - - Plastic 2gr
M 97/G 30x30 Wide Corner Connection Cover - - - Plastic 49r
M 97/A 40x40 Wide Corner Connection Cover - - - Plastic 8ar
M 96/G 45x45 Wide Corner Connection Cover | = - - Plastic 10gr
M 97/B 60x60 Wide Corner Connection Cover - - - Plastic 8gr
M 97/C 80x80 Wide Corner Connection Cover - - - Plastic 27 gr
M 96/D 90x90 Wide Corner Connection Cover - - - Plastic 24 gr

19



EREES /
6 8 10

Corner Connectors
(Narrow)and End Covers

Auminium
Profile
N\

kR

f N

o

>

2]
- J -
Code Prof External Product Name A D Material Weight
M 55 30x30 Corner Connection Narrow 8 | @6.5 | Aluminium 54 gr
M 54 45x45 Corner Connection Narrow 10 | @8.5 | Aluminium 59 gr
G 45 ggigg Corner Connection Narrow Cover | - - Plastic 7.59r

TIMH
KOMMATI

6 8 10

20

[ i |
4 I 4 I
& J & J
. TIMH
Code Prof External Product Name A B D Malzeme | Weight
M 54/C 30x60 Corner Connection Long 27.2| 57 | 6.5 | Aluminium 48 gr
M 54/A 40x80 Corner Connection Long 37.5| 78 |10.5| Aluminium | 114 gr
M 54/U 45x90 Corner Connection Long 42 | 842 | 9 | Aluminium | 185gr
M 54/P 30x60 Corner Connection Long Cover| - - - Plastic 10 gr
M 54/B 40x80 Corner Connection Long Cover| - - - Plastic 10 gr




6 8 10

Radius Corner Connectors
and End Covers

Auminium

Profile
[ Jif N |
4 R / N
b E &
W N g - >
o J N J
Code Prof External Prof External A | ¢ | D | Material |Weight KONIMAT]
M 56/R 20x20 Radius Corner Connection 18.5| 10 | 6.5 | Aluminium | 12 gr
M 55/R 30x30 Radius Corner Connection 28 | 15 | 8.5 | Aluminium | 42 gr
M 54/R 45x45 Radius Corner Connection 42 |22,5/10.5| Aluminium | 136 gr
M 96/C 20x20 Radius Corner Connection Cover | 20 | 3 - Plastic 2gr
M 96/A 30x30 Radius Corner Connection Cover | 30 | 3 - Plastic 4gr
M 96/B 45x45 Radius Corner Connection Cover | 45 | 3 | - Plastic | 14 gr
M 87/A 20x20 Square Corner Connection Cover | 20 | 2 - Plastic 3gr
M 87/B 30x30 Square Corner Connection Cover | 30 | 3 - Plastic 8gr
M 87/C 45x45 Square Corner Connection Cover | 45 | 3 - Plastic 22 gr

6 8 10
(>
4 ) 4 )
- J - J
. q TIMH
Code Prof External Prof External A B D Material | Weight KOMMATI

M1/T 40x40 A Triangle Corner Connection 36 | 36 | @8.5| Aluminium| 56 gr

M 2/T 40x40 A Triangle Corner Connection Cover | 40 | 40 - Plastic 7gr

M3/T 40x40 Square Corner Connection Cover | 40 | 40 - Plastic | 13.59r

21




Fasteners / Head Bolts A\ uminium
Profile
6 8 10
[ i < ] |
4 I 4 N
NG J N J
. . TIMH
Code | | Product Name M| A B | @D Material Weight KOMMATI
M 44/C Slot 6 Head Bolt M6 | 35 | 20 | 10.5 | 8.8 Steel 45gr
M 44/B Slot 8 Head Bolt M8 | 52 | 25 | 16 | 8.8 Steel 13gr
M 44 Slot 10 Head Bolt M10 | 6 30 | 17.5 | 8.8 Steel 21gr
Fasteners // Inner Slot Connector
6 8 10
[ |
f f )
N N J
Code E3 Product Name M | A| B | C |Material |Weight Kc;rl\lnn:nij\ﬂ
M 86/B Slot 8 | Inner Slot Connector | M8 | 15 | 26.4 | 12.5 Steel 15 gr
M 86/J Slot 10 | Inner Slot Connector |[M10| 19 | 30 | 17.5 Steel 27 gr

22




6 8 10
4 N f N
NG J NG J
Code Prof External Product Name A D | R | Material | Weight
KOMMATI
M 115 30x30 Corner Cube Connector Kits | 30 | @20,5 Aluminium | 38,5gr
M 117 40x40 S8 Corner Cube Connector Kits 40 | @26,6| 4 | Aluminium | 94,5gr
M 116 45x45 Corner Cube Connector Kits | 45 | @26,6| 4 | Aluminium | 151 gr

Code Prof External Product Name D Material |Weight
M 120 40x40 H (S8) | 45° Angle Corner Connector | @8.5 | Aluminium | 86 gr
M 121 45x45 45° Angle Corner Connector | @10 | Aluminium | 98 gr

23

TIMH
KOMMATI




- J - J

Code | | Product Name M| B|wW | D|H|A Material Weight Kc-)rI\IIIMMF,IATI
M 47/A Slot 6 Jagged Nut M4 | 57 114/ 41/ 12| 56| 8.8 Steel 129r
M 47/S Slot 6 Jagged Nut M5 |57 |11.4/ 41|/ 12|56 | 8.8 Steel 1gr
M 42/B Slot 8 Jagged Nut M4 | 79| 16 |63 | 2 | 77| 8.8 Steel 3.6 gr
M 42/A Slot 8 Jagged Nut M5|79| 16 |63 | 2 |7.7| 8.8 Steel 3.39r
M 42 Slot 8 Jagged Nut M6 | 79| 16 |63 | 2 |7.7| 8.8 Steel 3gr
M 43/B Slot 10 Jagged Nut M4 | 10 | 19 |87 | 3 | 98| 8.8Steel 7.59r
M 43/A Slot 10 Jagged Nut M5 |10 | 19 |87 | 3 | 9.8 8.8 Steel 7gr
M 43 Slot 10 Jagged Nut M6 | 10 | 19 |8.7| 3 | 9.8| 8.8 Steel 6.5gr
M 41 Slot 10 Jagged Nut M8 | 10 | 19 |87 | 3 | 98| 8.8 Steel 5.5gr

Fasteners / Hammer Screw Nuts Auminium
Profile
6 8 10

[ ] -
4 4 )
- - J
A q TIMH
Code | | Product Name D | L | M|H| W, B Material  |Weight KOMMATI

M 40/B Slot 8 M6x20 Hammer Screw Nut - 185| 6 |68 |16,5| 7,7 8.8 Steel 7.5gr
M 40/G Slot8 | M6x25 Hammer Screw Nut - |235| 6 |68 |165] 7,7 8.8 Steel 8gr
M 40/C Slot 10 | M8x25 Hammer Screw Nut - 17 8 |97 [195] 8,3 8.8 Steel 14 gr
M 40/A Slot 10 | M8x30 Hammer Screw Nut - 27 | 8 |97 /195| 83 8.8 Steel 16 gr
M 40/D Slot 10 | M8x40 Hammer Screw Nut - 37 8 |97 195 83 8.8 Steel 18.5gr
M 40/F Slot 10 | M8x60 Hammer Screw Nut - 57 8 |97 [195] 8,3 8.8 Steel 25.5gr
M 40/E Slot 8 Round Head Bolt @13 - 6 - - 9,8 8.8 Steel 3gr
M 40/l Slot 10 Round Head Bolt @21 - 8 - - 12,7 8.8 Steel 9,59r

24



Profile
6 8 10
2 |33
4 ) 4 )
e ‘l(/
| lt | v b #/
e 6,'/
N\ J N\ J
Code £ Product Name M B L H Material Weight KJ,:,,“:,:'LH

M102T Slot 6 Small Nuts M4 10 8.8 Steel | 25gr
M102 R Slot 6 Small Nuts M5 | g | 10 5 | 8.8 Steel 29r

M102 Z Slot 6 Small Nuts M6 | 6 | 10 5 | 8.8 Steel 2gr

M102 P Slot 8 Small Nuts M4 | 78| 16 6 8.8 Steel 9gr

M 102 L Slot 8 Small Nuts M5 | 78| 16 | 6 | 88Steel | 85gr
M102 F Slot 8 Small Nuts M6 | 7.8 | 16 6 | 8.8 Steel 8.5gr
M102 E Slot 8 Small Nuts M8 | 78 | 16 6 | 8.8 Steel 7.5gr
M 102D Slot 10 Small Nuts M4 | 10.1| 20 | 10,5/ 8.8Steel | 21.5gr
M102C Slot 10 Small Nuts M5 | 10.1| 20 | 10,5| 8.8Steel | 20.5gr
M 102 B Slot 10 Small Nuts M6 | 10.1| 20 | 10,5| 8.8Steel | 19.5gr
M 102 A Slot 10 Small Nuts M8 | 10.1| 20 | 10,5| 8.8 Steel | 18.5gr

Fasteners / Modular T Slot Nuts A\luminium
Profile
6 8 10
£
4 I 4 )
o J N J
. . TIMH
Code (- | Product Name M| B | W| L H | Material | Weight KOMMATI
M 105 Slot 6 Modular T Slot Nut M4 | 61| 11| 16 | 55 | 8.8 Steel 4gr
M 105/A | Siot6 Modular T Slot Nut M5 | 6.1 | 11| 16 | 55 | 8.8 Steel 4gr
M 105/B | Slot6 Modular T Slot Nut M6 | 61 | 11| 16 | 55 | 8.8 Steel 3gr

25




Profile

6 8 10

£2 £33 L4

TIMH
Code | | Product Name M B w L D3 | D2 | D1 H Material Weight

M 107 A | Sloté Long Nuts M5 6 10 | 100 | 20 | 30 | 10 5 | 8.8 Steel 29 gr
M107 B Slot 8 Long Nuts M6 78 | 16 | 120 | 35 35 | 75 6 8.8 Steel 77.5gr
M 107 C | Siot 10 Long Nuts M8 | 10 | 20 | 140 | 30 | 40 | 15 | 10,5 | 8.8Steel | 150gr

Profile

6 8 10
[ | >
4 ) 4 )
M A
x v
o J - J
Code | | Product Name M A B C L Material Weight KJ“'"“:A",'_\TI
M 45/K Slot 8 Spring Slot Nut M4 8 13 | 55 | 16 8.8 Steel 3.8gr
M 45/C Slot 8 Spring Slot Nut M5 8 13 | 55 16 8.8 Steel 4gr
M 45/B Slot 8 Spring Slot Nut M6 8 13 | 55 16 8.8 Steel 5.5gr
M 45/D Slot 8 Spring Slot Nut M8 8 13 55 16 8.8 Steel 45gr
M 45/H Slot 10 Spring Slot Nut M4 10 15 7.5 20 8.8 Steel 12 gr
M 45/F Slot 10 Spring Slot Nut M5 10 15 | 75 | 20 8.8 Steel 11.5gr
M 45/A Slot 10 Spring Slot Nut M6 | 10 15 | 75 | 20 8.8 Steel 11.5gr
M 45 Slot 10 Spring Slot Nut M8 | 10 15 | 75 | 20 8.8 Steel 10.5 gr

26



Profile

27

4 ) 4 N
:
g ; 7/ )
o J - J
. n TIMH
Code [ | Product Name A B C D d Material | Weight KOMMATI
M 85/G Slot 8 Angled Puller Type Connection 12.5| 15 12 | 6.8 Steel 22.5¢r
M 85/C Slot 10 Angled Puller Type Connection 26 | 17 |115| 15 | 85 Steel 53 gr
4 ) 4 N
%&s
‘ 4 ’
4 B
& J - J
q q TIMH
Code Product Name A | D d | Material | Weight KOMMATI
M 85/F Slot 8 Puller Type Connection With Joint 125/ 12 | 6.8 Steel 3259r
M 85/B Slot 10 Puller Type Connection With Joint 26 | 15 | 85 | Steel 84 gr
4 ) 4 I
ol !
O hel
i
'
o J - J
q A TIMH
Code (- | Product Name A B (o] D d | Material | Weight KOMMATI
M 85/A Slot 8 Plain Puller Type Connection 29 | 21 |16 | 12 | 6.8 Steel 24.5gr
M 85 Slot 10 Plain Puller Type Connection 455 31 | 20 | 15 | 85 Steel 54 gr
4 ) 4 N
o J - J
. q TIMH
Code | | Product Name A|B | D d | Material | Weight KOMMATI
M 85/D Slot 10 Head Puller Type Connection 68 | 48 | 15 | 8.8 Steel 80.5gr



umninium
Profile
6 8 10
(N ] < |
f ) f )
d
- J - J
q . TIMH
Code | | Product Name M | A | B| C | L | H | Material | Weight KOMMATI
M 106 Slot 6 Hidden Corner Connections | M5 | 9 | 6 | 4.8 |13.5| 20 Alloys 6 gr
M 106 A Slot 8 Hidden Corner Connections M6 | 13 6.7 21 | 30 Alloys 18.5gr
M 106 B Slot 10 Hidden Corner Connections 8.4 | 27 | 40 Alloys 41 gr
Fasteners / Moving Joints A\uminium
Profile
L] L]
4 1 4 1
- J - J
q q TIMH
Code Product Name A | B D H | Material | Weight KOMMATI
M 36 30x30 Moving Joint 30 | 30 | @8.5 |22.5| Alloys 154 gr
M 37/A 40x40 Moving Joint 40 | 40 | @8.5 | 30 | Alloys 372 gr
M 37 45x45 Moving Joint @10.5 | 30 | Alloys 342 gr

Fasteners / Square Nuts A\ uminium
Profile
LJ LJ
4 N 4 N
\%@ 7850
M
. J . J
. A TIMH
Code [ | Product Name M E Material Weight KOMMATI
M 46/F Slot 10 Square Nut M4 5 Steel 13.5¢r
M 46/H Slot 10 Square Nut M5 5 Steel 13 gr
M 46/E Slot 10 Square Nut M6 5 Steel 13 gr
M 46/1 Slot 10 Square Nut M8 5 Steel 12 gr
M 46/D Slot 10 Square Nut M10 5 Steel 10.5 gr

28




Fasteners / Levelling Feet Plates A\uminium
Profile
6 8 10
[ i |
4 N
", 4 'Y
[ w
) - L[ W
e y & -
oy T~A
g
L it
w_ Ay
. J
Code Ex|::r)rf1al Product Name M |A | L | B |H Material | Weight KOTnIII'\I’\Illl-}\TI
M 81/C 30x60 Levelling Feet Plate | M6 | 30 60 30 | 16 Aluminium 45 gr
M 81/B 40x80 Levelling Feet Plate | M10 | 40 80 40 | 15 Aluminium 76 gr
M 81/A 45x90 | Levelling FeetPlate | M12 | 45 | 90 | 45 | 15 | Aluminium 100 gr
M 81/F 60x60 | Levelling FeetPlate | M12 | 30 | 60 | 60 | 15 | Aluminium 119 gr
M 81/G 80x80 | Levelling FeetPlate | M12 | 40 | 80 | 80 | 15 | Aluminium | 217.5gr
M 81 90x90 | Levelling FeetPlate | M16 | 45 | 90 | 90 | 15 | Aluminium 195 gr

P
6 8 10

P

J

TIMH
METPO

5,00 €

7

> |
4 N
9,8
— )
i
o

!

g J -
Code Product Name
PE 33 MpooTateuTikd eAaaTIKO TTPOQIA 40x40 - 45x45 gviaia eTTIPAvEI
6 8 10
(|
e o N e
i i
« § |0 C
| L] | ]
& !
. 5 J .
Code Product Name
PE 54 Mpo@iA TTpooTaTEUTIKOU EAAOTIKOU 45%45 Tpeig TTAEUpEG

29




Fasteners / 90° Connection Part A\ uminium
Profile
6 8 10
- 4 )
[ ] S | | % .
% 2
oY Q FZ *J E“
e e e
Q — .
Q
[Fest ]
4 €
J/ L SN
\_ ° Y, \ J
Code EXT:::‘ al Product Name A (03 M Material Weight Kc;r,u\m\n
M 034/A 20x20 90° Connection Part 9.3 | 45 M4 Steel 17.5gr
M 032/A 25x25 90° Connection Part 123 | 45 M5 Steel 30gr
M 034 30x30 90° Connection Part 14 45 M6 Steel 33.5¢r
M 032 40x40 90° Connection Part 16.5| 61.5 | M8 Steel 52.3 gr
M 035/T 45x45 90° Connection Part 195 | 55 M8 Steel 71gr
Fasteners // 120° Connection Part A\luminium
Profile
6 & 10~ B\ e B\
TS
<
\ J \ J
Prof A . TIMH
Code External Product Name A Cc M Material Weight KOMMATI
M 35/G 20x20 120° Connection Part 9.3 41 M4 Steel 17 gr
M 35/E 25x25 120° Connection Part 12.3| 40 M5 Steel 27 gr
M 35 30x30 120° Connection Part 14 | 54 M6 Steel 43 gr
M 35/X 40x40 120° Connection Part 16.5 | 54 M8 Steel 49 gr
M 33 45x45 120° Connection Part 19.5 M8 Steel 92 gr

Fasteners // 135° Connection Part A\luminium
Profile
4 )
L2 LJ L]
<<
o J o J
Prof . q TIMH
Code External Product Name A C M Material Weight KOMMATI
M 34/D 20x20 135° Connection Part 9.3 | 385 | M4 Steel 16 gr
M 32/B 25x25 135° Connection Part 123 | 395 | M5 Steel 27 gr
M 35/A 30x30 135° Connection Part 14 51 M6 Steel 41gr
M 33/X 40x40 135° Connection Part 16.5 | 52 M6 Steel 48 gr
M 33/A 45x45 135° Connection Part 195 | 63 M8 Steel 88 gr

30



Fasteners // 2 Way Connection Plates /A umlnlum
rofile
6 8 10
I ] < |
4 ) 4 I I )
-9
|
\ <
- ?
- J - l I J
Code Exqgcr);al Product Name A B @D K Material Weight KOTI\IIIn:\IIIFII\TI
M 051 20x25 | 2 Way ConnectionPlate | 75 | 75 | 5 3 Steel 96.5 gr
M 72/A 30x30 | 2 Way Connection Plate | 80 | 80 | 65 | 3 Steel 119 gr
M 56/L 40x40 | 2 Way Connection Plate | 110 | 110 | 6.5 3 Steel 218 gr
M 56 45x45 | 2 Way Connection Plate | 120 | 120 | 85 | 3 Steel 256 gr
M 76 45x90 | 2 Way Connection Plate | 180 | 180 | 8.5 4 Steel 850 gr
M 76/L 80x80 | 2 Way Connection Plate | 200 | 200 | 6.5 | 4 Steel 990 gr
M 66 90x90 2 Way Connection Plate 8.5 5 Steel 1.782 gr

~
_— ¢
T e o _—
® o
- J \§ l l ' )
Code Eth:?ri:al Product Name A | B |@D | K Material Weight KJI\IIII\:\IIIFII\TI
M 051/A 20x25 | 3 Way ConnectionPlate | 75 | 86 | 5 3 Steel 109.5 gr
M 72/B 30x30 | 3 Way Connection Plate | 90 | 150 | 6.5 | 3 Steel 221.5gr
M 72/L 40x40 3 Way Connection Plate | 110 | 150 | 6.5 3 Steel 280 gr
M 56/A 45x45 | 3 Way Connection Plate | 120 | 160 | 8.5 | 3 Steel 322gr
M 76/A 45x90 | 3 Way Connection Plate | 170 | 130 | 8.5 | 4 Steel 622 gr
M 66/L 80x80 | 3 Way Connection Plate | 160 | 220 | 6.5 | 4 Steel 900 gr
M 66/A 90x90 3 Way Connection Plate 8.5 5 Steel 1.581 gr

Aluminium
Profile

L ]
\ J N 11 )
Code Eth’cre?ri;al Product Name A | B [@D | K Material Weight K (;rl\llmllm

M 051/B 20x25 | 4 Way Connection Plate | 130 | 130 | 5 3 Steel 248 gr

M 72/C 30x30 | 4 Way Connection Plate | 150 | 150 | 6.5 | 3 Steel 334 gr

M 56/B 45x45 | 4 Way Connection Plate | 180 | 180 | 85 | 4 Steel 689 gr

M 66/J 80x80 | 4 Way Connection Plate | 200 | 200 | 6.5 | 4 Steel 1180 gr
M 66/B 90x90 | 4 Way Connection Plate | 311 | 311 | 85 | 5 Steel 2739 gr

31




Plain Additional

Fasteners ; Aumi
— Connection Plate Fmridm
6 8 10
(> |
4 \ ) 4 )
Qo ©
{“@ o
S o) o5
A
N i J N J
. . TIMH
Code Product Name A B (o3 @D L Material | Weight KOMMATI
M 148 Plain Additional Connection Plate | 85 45 45 85 | 175 Steel 564 gr
Profile
4 B ) 4 N
D,
Er
‘ |
] 4
\ T
f
N ‘ J N J
. . TIMH
Code Product Name A B c D Material Weight KOMMATI
M 57 Foot Fixing Bracket 153 45 92 9 Steel 488.5 gr

A\ uminium

Profile

Code Bt Product Name A| B | D| H| K| Material | Weight KONIMAT]
M 152 45x45 | Based Foot Connection Elements | 135| 89 | 13 | 80| 4 Steel 862 gr
M 153 45x90 Based Foot Connection Elements | 180 | 89 | 13 | 80| 4 Steel 972 gr
M 154 40x40 Based Foot Connection Elements | 130 | 89 | 13 | 66 | 4 Steel 740 gr
M 155 40x80 | Based Foot Connection Elements | 170 | 89 | 13 | 66 | 4 Steel 860 gr

32




Cabin Equipment / Shelf Adjusting Plate A\ uminium
Profile

6 8 10
£3 L4
4 ) )
N\ J J
. - TIMH
Code | | Product Name A B d @D Material Weight KOMMATI
M 98 Slot 8 Shelf Adjusting Plate | 120 | 30 | 6.5 | 6.5 Steel 247.5gr
M 98/K Slot 10 Shelf Adjusting Plate 120 | 38 8.5 8.5 Steel 2425 gr

Cabin Equipment / Magnet Connection Set  /A\[yminjum
Profile

6 8 10
[N Jj S ] N
4 Magnet Connection Set Magnet Catch Part A ( A

Code > | Product Name A| B | L  @d Material Weight KJ“I"MMFII\TI
M 069/D | Siot6 | Magnet ConnectionSet | 45 | 20 | 40 | 55 | SPSLEAC | g5 gr
M 69/B Slot 8 Magnet Connection Set 45 | 35 | 55 | 6.5 Sie;la‘l;tlfacte 104 gr
M 069 Slot 10 Magnet Connection Set 45 | 47 | 67 | 6.5 Sg_e;gl:tliacte 113 gr

33



Cabin Equipment / Hanger A\uminium
Profile
6 8 10

[ | >
4 ) 4 )
N\ J N\ J
A A TIMH
Code Product Name Material Weight KOMMATI
M 72 Hanger 20.25 Plastic+ Steel 18 gr
M73 Hanger 30.45 Plastic+ Steel 36 gr
Cabin Equipment / Slide Rail Auminium
Profile
6 8 10
£33 L4
4 ) 4 )
A~
y
N\ J N\ J
q A TIMH
Code | | Product Name A|C | H L M Material Weight KOMMATI
M 75/B Slot 8 Slide Rail 8 | 2 [187] 53 | M4 Derlin 8.5qr
M 75/A Slot 10 Slide Rail 10 | 2.5 |20.3| 60 M4 Derlin 13 gr
Cabin Equipment / Accordion Pin A\uminium
Profile
6 8 10
£E3 L4
4 ) 4 )
o J o J
. . TIMH
Code | | Product Name A|C | H L M Material Weight
M 75/D Slot 8 Accordion Slide Pin 15| 3 | 24 M8 Steel+Derlin 79r
M 75/C Slot 10 Accordion Slide Pin 10 | 18 | 3 | 27 | M10 | Steel+Derlin 12.5¢gr

34



Cabin Equipment / Handle A luminium
Profile
6 8 10
£2 £33
4 )
N\ J
. . TIMH
Code Product Name H L L1 B D Material Weight KOMMATI
M 67 Plastic Handle 405 (1315 | 915 25 8.4 Plastic 445 gr
M 68 Plastic Handle Light Duty 40.5| 130 | 104 12 a5 Plastic 25gr
M 69 Plastic Slide-in Handle 6 134 | 100 27 | @85 Plastic 110 gr
Cabin Equipment // Ball Catch A\uminium
Profile
6 8 10
£2/E3 K3
4 ) 4 )
o J & J
Prof q . TIMH
Code Product Name External L L1 B D Material Weight KOMMATI
M 69/C Ball Catch 20-25-30 | 53 | 40 | 55 | @5 Plastic 25gr
M 69/F Ball Catch 35-40-45| 74 | 57 | 77 | @55 Plastic 40 gr
Cabin Equipment // Adjustable Handle A\uminium
Profile
6 8 10
£2/t3 4
4 ) 4 )
N\ J N\ J
. A TIMH
Code Product Name M H h1 L Material Weight KOMMATI
M 73/A Adjustable Handle M6 72 30 78 Plastic agr
M 73/B Adjustable Handle M8 | 92 50 78 Plastic 52 gr
M 73/C Adjustable Handle M10 | 102 60 78 Plastic 65 gr

35




Connection Accessories / Slot Seals A\uminium
Profile
6 8 10
(b J] < | |
4 ™ 4 ™
: /// N
\ J \ J
Code [ | Product Name Colour A B Material K-gmwxfn
M79 Slot 6 Slot Seal (] 73| 3.8 Plastic
M 49 Slot 8 Slot Seal [ 89 | 43 Plastic
M 59 Slot 10 Slot Seal o 11.7| 81 Plastic
KATOIIN )
NAPAFFEAIAS Slot 6 Slot Seal Colorful " 10 73| 38 Plastic
KATOIMIN .
MAPATTEAIAZ Slot 8 Slot Seal Colorful 000 89 | 43 Plastic
KATOIIN .
NAPAFFEAIAS | Slot 10 Slot Seal Colorful Q0® |11.7]| 8.1 Plastic

36

A\uminium
Profile
(b ] < | |
4 I 4 ) I
A
\ .
g J g J
Code | Product Name Colour A | B | Material KTc;WTn
M70 Slot 6 Glass Seal o 7 Plastic
M72 Slot 8 Glass Seal [ ] 85 (113 Plastic
M 71 Slot 10 Glass Seal ( J 1 | 121 Plastic




Connection Accessories //

[MéuoAa

TTopoAa papyapita ano PF Duroplast pe OnAvko naco

AvBekTiKG o€ €Aata, Almrn, Koo Kol SIAAVTEG.

Ko dikog Awapetpog ITaco Tyn Kodikog Avapetpog ITaoco Twur
01PB2A PB2 M4  20mm M4 01PB4F PB4 M12 40mm M12
01PB2B PB2 M5 20mm M5 01PB5D PB5 M8 50mm M8
01PB2C PB2 M6 20mm M6 01PB5E PB5 M10 50mm M10
01PB3B PB3 M5 30mm M5 01PB5F PB5 M12 50mm M12
01PB3C PB3 M6 30mm M6 01PB6E PB6 M10 60mm  M10
01PB3D PB3 M8 30mm M8 01PB6F PB6 M12 60mm M12
01PB4C PB4 M6 40mm M5 01PB7E PB7 M10 70mm  M10
01PB4D PB4 M8 40mm M8 01PB7F PB7 M12 70mm M12
01PB4E PB4 M10 40mm M10 01PB7NPB7 M14 70mm M14

+100°C
-20°C

quality industrial components

ITopoAa papyapita ano PF Duroplast pe apoeviko dco

AvBekTIKG o€ €Aata, Almr, KOOI Kol SIGAVTEG.

Kodwkog Tomog  Ildoo
01PF2B20 PF2 M5X20 20mm M5X20mm
01PF2B30 PF2 M5X30 30mm M5X30mm
01PF3C20 PF3 M6X20 30mm M6X20mm
01PF3C30 PF3 M6X30 30mm M6X30mm
01PF3P25 PF3 M8X25 30mm M8X25mm
01PF4C25 PF4 M6X25 40mm M6X25mm
01PF4C40 PF4 M6X40 40mm M6X40mm
01PF4D20 PF4 M8X20 40mm M8X20mm
01PF4D25 PF4 M8X25 40mm M8X25mm
01PF4D40 PF4 M8X40 40mm M8X40mm
01PF4D50 PF4 M8X50 40mm M8X50mm
01PF4E30 PF4 M10X30 40mm M10X30mm
01PF5E40 PF5 M10X40 40mm M10X40mm
01PF6F45 PF6 M12X45 45mm M12X45mm
01PF5D20 PF4 M8X20 50mm M8X20mm
01PF5D35 PF5 M8X35 50mm M8X35mm

Ty

Ko dikog Tonog  Ildoo
01PF5E25 PF5 M10X25 50mm M10X25mm
01PF5E30 PF5 M10X30 50mm M10X30mm
01PF6E50 PF6 M10X50 50mm M10X40mm
01PF6F35 PF6 M12X35 50mm M12X35mm
01PF6D25 PF6 M8X25 60mm M8X25mm
01PF6D40 PF6 M8X40 60mm M8X40mm
01PF6E30 PF6 M10X30 60mm M10X30mm
01PF6E70 PF6 M10X70 60mm M10X70mm

Ty

THENAR

quality industrial components

ITopoAa papyapita ano PF Duroplast pe apoeviko maco INOX
AvBekTIKG o€ €Aata, Almrn, KA Kol SIAAVTEG.

Ko dikog Tonog Ildoo
01PF2B20X PF2 M5X20 20mm M5X20mm
01PF2B30X PF2 M5X30 20mm M5X30mm
01PF2B40X PF2 M5X40 20mm M5X40mm
01PF2C20X PF2 M6X20 20mm M6X20mm
01PF2C30X PF2 M6X30 20mm M6X30mm
01PF2C40X PF2 M6X40 20mm M6X40mm
01PF3D15X PF3 M8X15 30mm M8X15mm
01PF3D25X PF3 M8X25 30mm M8X25mm
01PF4C25X PF4 M6X25 40mm M6X25mm
01PF4D40X PF4 M8X40 40mm M8X40mm

Ty

THENAR

+100°C
-20°C

THENAR

quality industrial components

37



[ J < ] |
4 N\ . N\
Lu.
{
-
-
N J L J
Prof . . TIMH
Code External Product Name E H1 H2 L1 L2 L3 L4 D1 Material Weight KOMMATI

M 65/K 20x20 Hinge (Thin Series) 5 | 10.25 [ 10.25| 18.35| 18.35| 35 19 6 PAG Black | 8.5¢gr

M 65/F 20x25 Hinge (Thin Series) 5 10.25 | 12.75| 18.35| 23.35| 35 19 6 Pa6 Black 10 gr

M 65/G 25x25 Hinge (Thin Series) 5 | 12.75 [ 12.75| 23.35| 23.35| 35 19 6 Pa6 Black 11gr

M 65/H 20x30 | Hinge (Thin Series) | 5 | 10.25 |15.25|18.35|23.35| 35 | 19 6 | Pa6Black | 9.5gr
M 65/ 25x30 | Hinge (Thin Series) | 5 | 12.75 |15.25|23.35|23.35| 35 | 19 6 | Pa6Black | 10gr
M 65/A 30x30 Hinge 8 15 15 | 25 | 25 | 50 | 30 | 6.5 | Pa6Black | 29.5gr
M 65/B 35x35 Hinge 8 | 175 | 175 | 32 32 50 30 | 6.5 | Pa6Black | 34gr
M 65/D 45x30 Hinge 8 [2275| 15 | 32 | 25 | 50 | 30 | 6.5 | Pa6Black | 31gr
M 65/J 35x45 Hinge 8 | 2275|175| 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 33gr
M 65/C 45x45 Hinge 8 | 2275|2275/ 32 | 32 | 50 | 30 | 65 | Pa6Black | 34gr

Cabin Equipments / Locked & Covered Hinges /A Fl'_||-|-1ir{!il_||-|-|
rofile
6 8 10

[ Y < ] |
N e ™
J N J
Prof . . TIMH
Code BT Product Name H L1 L2 L3 L4 D1 Material Weight KOMMATI
M 92/A 25x25 Hinges With Lock 72 | 48 | 28 | 52 | 30 | 6,6 | Pa6Black | 46gr
M 92/B 30x30 Hinges With Lock 72 | 48 | 28 | 59 | 35 | 6,9 | Pa6Black | 48gr
M 92/C 45x45 Hinges With Lock 72 | 48 | 28 | 87 | 50 | 6,6 | Pa6Black | 60,5gr
M 92/D 45x45 Hinge Cover 622 | 56 | 36 | 73 | 455 | 6,6 | Pa6Black | 41gr

38



Cabin Equipments / Plexiglass A\uminium
Profile
e N @ N

» k1
B c N
<
o J
Code Product Name A B C Material Weight
MIMOPOYN NA KOIMNOYN
Plexiglass 3 mm 2050 | 3050 3 Plexiglass 3,57 kg/m’ STIZ ENMNIOYMHTEX
Plexiglass 4 mm 2050| 3050 | 4 | Plexiglass | 4,76 kg/m? AIAZTAZEIZ
Plexiglass 5 mm 2050 | 3050 | 5 Plexiglass 5,95 kg/m’ AIATIOONTAI ZE
Plexiglass 6 mm 2050| 3050 | 6 | Plexiglass | 7,14 kg/m® AIA®OPA XPQMATA
Plexiglass 8 mm 2050 | 3050 | 8 Plexiglass | 9,52 kg/m’ TIMH KATOIMIN
- - ) ZYNNENOHZHZ

Plexiglass 10 mm 2050 | 3050 | 10 Plexiglass 11,90 kg/m

Cabin Equipments / MoAukapBovikd A\uminium
Profile
e D

B c ‘
i (et
<
NG J
Code Product Name A B Cc Material Weight
MIMOPOYN NA KOINOYN
MoAukapBovikd 4 mm 2100 | 6000 | 4 | MoukapBoviké | 0,80 kg/m® ITIZ ENIOYMHTEZ
MoAukapBovikd 6 mm 2100 | 6000 | 6 | MohukapBovikd | 1,30 kg/m® AIAZTAZEIZ
MoAukapBovikd 8 mm 2100 | 6000 | 8 | MohukapPovikd | 1,50 kg/m® AIATIOONTAI ZE
MoAukapBoviké 10 mm 2100 | 6000 | 10 | MoAukapBovikd | 1,70 kg/m? AIA®OPA XPQMATA
MoAukapBoviké 16 mm 2100 | 6000 | 16 | Moukapovikd | 2,55 kg/m’ TIMH KATOMIN
2YNNENOHZHZ
MoAukapBovikd 20 mm 2100 | 6000 | 20 | MohukapBovikd | 3,10 kg/m?
. . 2UMTTaYEG
Cabin Equipments / f A\uminium
— HO)\UKGPBOVIKG Profile
e
B I
Code Product Name A B Cc Material Weight
Sup. MoAukapBovikd 3 mm | 2050 | 3950 | 3 | MonukapBoviko | 3,600 kg/m* | |
ZupTr. MoAukapBoviké 4 mm | 2050 8(1)88 4 | MohukapPoviké | 4,800 kg/m?
N\
Zupr. MoAukapBovikd 5 mm | 2050 | 3950 | 5 | Monukappoviks | 6,00 kg/m”
s _TloA 56 3050 oA 6 | 7,200 kg/m? MMOPOYN NA KOIMNMOYN
upTT. MoAukapBoviké 6 mm | 2050 | 100 | 6 OAUKAPROVIKO g/m D S ot
Zupr. MoAukapPovikd 8 mm | 2050 | 6100 | 8 | MoAukapBovikd | 9,600 kg/m’ AIAZTAZEIX
upTr. MoAukapBovikd 10 mm | 2050 | 6100 | 10 | MohukapBoviké | 12,00 kg/m? AIATIOONTAI ZE
AIAOOPA XPQMATA

TIMH KATOMMIN
39 TYNNENOHZHE




Cabin Equipments / Cable Holders A\uminium
Profile
6 8 10
(|
(" A (" A
U‘ \ .
| w! .
> 3
~ A ’
N J N J
c - - TIMH
ode Product Name A B C D E Material | Weight KOMMATI
M 83 Cable Holder With Cap 34 |16 | 20 | 285 | 10 | Plastic 6.5gr
M 82 Cable Holder Without Cap 22 |10 | 11 - - Plastic 5.9¢r
Cabin Equipments // Plastic Plexi Holder A\uminium
Profile
6 8 10
(> |
4 N N
<
- J J
P - - TIMH
ode Product Name A B (o3 D Material Weight KOMMATI
M 109 Plexi Holder With Nut 25 | 19| 25 | 55 Plastic 1Mgr
M 109/A Plexi Holder With Uniblock 20,8| 29 | 22,2| - Plastic 10gr

Cabin Equipments / Plexi Holder Metal Auminium
Profile
6 8 10
[ I} < | > |
4 N N
C =
o H f ‘
! | J
|
|
1Bl o
c q q TIMH
ode Product Name A | B | C| D Material Weight KOMMATI
M 120 Plexi Holder Metal Single 20 [32,5| 25 |@4,2| 12,5 | Aluminium 25gr
M 120/A Metal Plexi Holder Dual 20 | 8 | 65| 65 Aluminium 82gr

40




Connection Elements /

Slot Sliding Wheel

Security Fence
Connection Systems

) 4
o J - J
- - TIMH
Code | | Product Name A|B|C |D Material |Weight KOMMATI
o Black
M 88/B Slot 8 Slot Sliding Wheel 33.5| 47 (19.3|5.8 |7.8 Polyethylene 47 gr
i Black
M 88/A Slot 10 Slot Sliding Wheel 685| 48 | 29 | 95 |9.5|p 1 cthiiene 90 gr
M 88/X Slot 10|  Sliding Wheel set 40x40 40 | 40 | 40 Aluminium 116 gr
M 88/Y Slot 10 |  Sliding Wheel set 45x45 | 45 | 45 | 45 Aluminium 170 gr
Safety Lock
4 N 4 I
. J & J
. n TIMH
Code Product Name A|B|C|D Material Weight KOMMATI
M 92 Safety Lock 80 | 40 | 35| 31| Aluminium | 243 gr
Safety Fence Connector
N\ LT 4
NG NG
. TIMH
Code Product Name A|B| C D|dl| M Material KOMMATI
M 77 Safety fence ConnectionPart | 5 | 12| 6 | 24 | 5 | M5 | Aluminium |13.5gr
Parallel Profile Connection Kit
4 ) 4 I
o J & J
. A TIMH
Code Product Name A |B|C|@D|E F | H | Material |Weight KOMMATI
M 135 Parallel Profile Connection Kit 30 30|27 |85|15 | 85|57 Steel [38.5gr

41




Connection Accessories / Profile Caps

42

N [ N [~
.
L, T
J . 2N
N N [~
A _C_ -
m
Dogus Kalip
RN 2N
Code Product Name A B Cc Color Material Weight KJ,,',m'LTl
M 58/P 20x20 Profile Cover 20 20 2 [ ] Plastic 19r
M 58/B 20x40 Profile Cover 20 40 3 ( J Plastic 2gr
M 58/F 20x80 Profile Cover 20 | 80 3 o Plastic 4gr
M 58/R 25x25 Profile Cover 25 25 3 o Plastic 1.5¢9r
M 58/A 30x30 Profile Cover 30 30 3 [ ) Plastic 3.5¢r
M 58/H 35x35 Profile Cover 35 | 35 | 33 ) Plastic 45gr
M 170 30x60 Profile Cover 30 60 3 [ ] Plastic 7gr
M171 30x90 Profile Cover 30 | 90 | 33 o Plastic 7.59r
M PK 40 40x40 Profile Cover (S10) 40 40 3.3 o Plastic 5.5gr
M172 40x40 Profile Cover (S8) 40 | 40 | 3.3 o Plastic 5.59r
M173 40x80 Profile Cover (S8) 40 80 3.3 [ ] Plastic 8.88 gr
M PK 48 40x80 Profile Cover (S10) 40 80 3.3 (] Plastic 9.5¢r
M 58/C 45x45 Profile Cover 45 45 3.6 o Plastic 8gr
M 58/J 45x60 Profile Cover 45 60 3.6 o Plastic 9.5¢r
M 58/D 45x90 Profile Cover 45 90 3.6 ( } Plastic 15.5gr
M 174 45x135 Profile Cover 45 | 135 | 3.6 o Plastic 19 gr
M 175 50x50 Profile Cover 50 | 50 3.6 o Plastic 8gr
M 176 50x100 Profile Cover 50 | 100 | 3.6 o Plastic 17 gr
M 58/G 60x60 Profile Cover 60 60 3.6 o Plastic 11.5gr
M177 60x60 Profile Cover (S8) 60 60 3.6 () Plastic 12.5¢9r
M 177/G 60x90 Profile Cover % | 60 | 36 PS Plastic 18.33 gr
M PK 80/8 80x80 Profile Cover (S8) 80 80 3.6 o Plastic 21.6gr
M PK 80 80x80 Profile Cover 80 80 3.6 o Plastic 19.5gr
M 58/E 90x90 Profile Cover 90 90 3.6 ( Plastic 31gr
M 178 20x20 Radius Profile Cover 20 20 3 [ ] Plastic 1gr
M 58/L 30x30 Radius Profile Cover 30 30 3 [ ] Plastic 25gr
M 58/M 45x45 Radius Profile Cover 45 | 45 3 o Plastic 7gr
M 179 23x127 Profile Cover 23 | 126.8| 4.2 ( J Plastic 18.5gr
M 179/X Hexagon Stand Profile 60 52 3 ( J Plastic 5.67 gr




Connection Accessories / Plastic Levelling Feet
s A

=

-

Auminium
Profile
~

- J - J
. . Load
Code Product Name D M H | h | Material | Weight | ¢, -ci KJIQIII'\II\IIIFII\TI
M 62/D M8 Plastic Levelling Foot @41| M6 | 80 | 50 | Plastic 41gr 39kg
M 62 M8 Plastic Levelling Foot 41 M8 80 | 50 Plastic 47 gr 49.5 kg
M 61 M10 Plastic Levelling Foot @60 | M10 | 100 | 60 Plastic 116 gr 114 kg
M 61/C M12 Plastic Levelling Foot @60 | M12 | 100 | 60 Plastic 136 gr 152kg
M 61/B M16 Plastic Levelling Foot @110 110 | Plastic 314 gr 325.5 kg
Connection Accessories Metal Levelling Feet Aumini
uminiam
Profile
4 N
- J - J
. . Load
Code Product Name D M H Material Weight | apacity KOMMATI
M 62/C M;?a.cﬁgsgfng%a;g:’ @60 | M10 | 85 | 50 | Chrome-steel | 188gr | 190 kg
M 62/B m;faf’[‘;sg;fng‘;fgf @80 | M12 | 150 | 100 | Chrome-steel | 479gr | 489kg
M 62/A Motal L omling Eoct @120 M16 | 150 | 100 | Chrome-steel | 1.081 gr| 1.150 kg
Connection Accessories Po6de /A ini
uminium
Profile
4 M 4 M
d.
==
- E -
- J - J
Load . . TIMH
Code Product Name E |@OD | @d | H Capacity Material | Weight KOMMATI
M 99/A P&da 1pehy @ 50 24 | 50 | 10 | 70 50 kg Polyamid | 204 gr
M 99/B | P&da 1pehfi ® 50 pe gpévo | 24 | 50 | 10 | 70 50 kg Polyamid | 277 gr
M 99/C P&da TpeA @ 75 24 | 75 | 10 | 100 70 kg Polyamid | 298 gr
M 99/D P6da TpeAy @ 75 pe ppévo | 24 | 75 | 10 | 100 70 kg Polyamid 538 gr
M 99/E P6da 1peAn ®© 100 24 | 100 | 12 | 130 80 kg Polyamid | 719 gr
M 99/F Poda tpeAry @ 100 pe ppévo| 24 | 100 | 12 | 130 80 kg Polyamid 820 gr

KATOMNIN ZHTHZHZ YIMAPXOYN KAl ZE AAAEZ AIAMETPOYZ

43




Cabin Equipment // In slot
8 10

(>

Cabin Equipment / Absorber Connection Part

<«

A\uminium
Profile
Ed N / N
<
8
o % - J
Code 2 Product Name Color | A | B | Material | Weight T Epan
us Slot 8 In Slot U 8 seal [ ] 9 | 82 PVC
u1o0 Slot 10 In Slot U 10 seal ( 14,00{10,20|  PVC
/ 4
-
Cabin Equipment / Absorbers /A uminium
rofile
e
; | _ /
B L A .
o J o
H . . TIMH
Code Product Name A | B Min. Max Material Weight KOMMATI
M 84 Absorbers (Strok 150mm) F300N | 150 | 195 | 233 - 383 Steel 205 gr
M 84/B Absorbers (Strok 105mm) F150N | 105 | 145 | 188 - 293 Steel 159 gr
M 84/C Absorbers (Strok 85mm) F85N 168 - 253 Steel 148 gr

A uminium
Profile
N

J
Code Product Name Material Weight
M 84/D - M84/F Absorber Connection Part Steel 48 gr

44

TIMH
KOMMATI



Cabin Equipment / AAevOBIOEC INOX A\uminium
Profile

AAevoPrdeg o€ petpiko DIN912 INOX A2

IMaygog—~ 3 4 5 6 8 10
I Mnkog!
3-6
8
10
12
16
20
25
30
35
40
45
50
60
70
80
90
100
110
120
130
140
150
*ta 100 tepayia

14

16

AlevoPideg @pelateg DIN7991 INOX A2

TMayog— 4 5 6 8 10 12
I Mnkog!

10

12

16

20

25

30

35

40

45

50

60

70

80

*1a 100 tepayla

45

AlevoPrdeg opné DIN7380
INOX A2

®

Ilayoc—~ 4 5 6 8 10
I Mnkog!l
10
12
16
20
25
30
35
40
50
60

*1a 100 tepayla

(. J

Ol TIMEZ MMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMOIHZH



Magiuddia - PodéAeg
& NTieg Inox

-

Cabin Equipment //

PodéAeg¢ DIN125 INOX A2

Tomog Ty Tomog Twyn
3X7 0,70 € 18X34

4X9 0,70 € 20X37

5X10 0,94 € 22X39

6X13 1,18 € 24X44

8X17 1,88 € 27X50

10X21 3,40 € 30X56

12X24 7,44 € 33X60

14X28 10,80 € 36X66

16X30 11,88 € *ta 100 tepdyio

PodéAeg oapdiég DIN9021 (INOX A2

Tomog Tym Tomeg Twn
3X9 0,74 € 16X50

4X12 1,10 € 18X56

5X15 1,47 € 20X60

6X18 2,88 € 22X66

8X25 6,96 € 24X72

10X30 13,52 € 27X81

12X40 19,44 € *ta 100 tepdyio
14X4531,14 €

»

S

.

N

Nti¢eg DIN976 1 pétpov INOX A2

Ilayog Ty ITayog Twun

3 1,89€ 16
4 1,96€ 18
5 1,86€ 20
6 245€ 22
8 3,63€ 24
10 532€ 27
12 745€ 30
14 11,28€ 33

I'kpoPep DIN127B (INOX A2

Om) Tym Omj Ty

3 041€ 16 _ |
4 041€ 18 \
5 0,83 € 20 " Y
6 1,23€ 22 -
8 2,06€ 24 }
10 2,88 € 27

12 525€ 30

14 6,58 € *to 100 tepdya

Avoleidota nepikoyha DIN934 INOX A2

Ilayog Ty ITayog Twn

2 1,75€ 16
25 1,75€ 18

3 1,26€ 20

4 144€ 22

5 1,79€ 24

6 294€ 27

8 630€ 30

10 11,76 € 33

12 17,22€ 36

14 25,41 € *ta 100 tepdya

ITepkoyAa ac@aieiag DIN985 INOX A2

IMMayog Ty TIlayog T
3 294€ 14
4 294€ 16
5 294€ 18
6 340€ 20
8 6,86€ 22
10 15,19 € 24

12 22,05€ *ta 100 tepdya

Ya

ITepikoyAia topAa DIN1587 INOX A2

IIdoo Ty IIdoo Twyn
3 748€ 12
4 7,48€ 14
5 7,74€ 16
6 837€ 18
8 14,06 € 20

10 25,36 € *to 100 tepayia

ITepikoyAa ietaAovSeg DIN315AF (INOX A2

Tym

4

5

6

8

10 '
: |

14

16
*1a 100 tepaya

IIdoo

AN

Ol TIMEZ MMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMOIHZH

46



Aluminium Profiles AT // Profiles AT

rwvieg | Corners I'Isplvpuzf_rl I|_b|(3_|(::)scription W(Zight I'Ieplvpdzf_rl I|_|)Ii)_|(::)scription v\(/?e.ight
15x15x1,9 0,132 10x10x4,0 0,100
20x20x1,5 0,160 30x20x1,50 0,200
25x25x1,5 0,200 50x20x2,0 0,370
B 30x30x1,5 0,240 60x60x3,0 0,950
40x40x1,5 0,318 75x50x5,0 1,640
| i 40x20x1,5 0,240 60x20x1,5 0,320
. ﬁ 50x30x3,0 0,620 60x40x4,0 1,040
50x50x2,0 0,530 80x40x4,0 1,250
60x20x1,5 0,320 80x20x1,5 0,400
100x20x2,0 0,640 100x100x8,0 4,150
100x50x5,0 1,960 120x20x2,0 0,750
Aape < | Pr ofiles I'Ieplypa(p(r?_ )|(1I_D)escription V\(/De.iz.ht I'Ieplvpcx(p(rl']_ )|(_II_3)escription V\(lae.iz.ht
20x3 0,160 80x50 1,080
20x5 0,270 80x10 2,160
25x3 0,200 80x15 3,240
25x5 0,340 100x8 2,160
30x3 0,240 100x10 2,700
40x5 0,540 100x20 5,400
30x5 0,410 100x30 8,100
30x10 0,810 120x10 3,240
40x3 0,320 120x15 4,860
i 40x5 0,540 120x20 6,480
# 40x10 1,080 150x10 4,050
<7|_4.‘ 40x15 1,620 150x15 6,080
40x20 2,160 150x20 8,100
50x3 0,410 200x10 5,400
50x5 0,620 200x15 8,100
50x8 1,080 200x20 10,800
50x10 1,350 20x10 0,540
60x3 0,490 40x8 0,860
60x5 0,810 60x8 1,300
60x10 1,620 95x11 2,822
60x15 2,430 95x11 2,822
Kapé | Square ﬂeplypa(qir;]( IL)I?_I?)scription v\%izht I'Isplypa((lpirl |L)I(3Te;scription v\%ilzht
12x12x1,0 0,120 40x40x1,5 0,624
T 15x15x1,5 0,220 50x50x1,5 0,786
H N K 20x20x1,5 0,300 100x50x2,0 1,580
25x25x1,5 0,380 60x20x1,5 0,620
o 30x30x1,3 | 0,403 |  60x40x2,0 1,041
40x20x1,5 0,460 80x20x1,3 0,684

47

ZnTtnoTe pag
TIMEG

ZNTAOTE Yag
TIMEG

ZNTAOTE Yag
TIMEG



Aluminium Profiles AT

// Profiles AT

Meprypaer) | Description ©.B.

Kapé | Square Mepiypaer) | Description ©.B.

(LxHxT) Weight (LxHXT) Weight
80x40x1,3 0824 | 100x40x16 | 1,180 | ZnTAOTE PAC
H - 80x80x1,8 1,520 100x50x2,0 1,580 '|'||Jég
L 100x20x1,5 0,950 100x100x2,0 2,120
L 120x20x1,6 1,180 100x100x4,0 4,150

Mepiypaer) | Description 0.B. Mepiypagr) | Description ©.B

ZwAnveg | Tubes

(DXT) Weight (DxT) We'igiwt
O8xTmm 0,060 d30x2mm 0,480
O10xTmm 0,080 d32x2mm 0,510
d12x2mm 0,170 ®42,4x2mm 0,685
D16x1,5mm 0,184 d50x2mm 0,814 ZI’]TT']O'TE Mag
T ®16x3,5mm 0,370 ®60x2mm 0,984 T|pég
®18x2,0mm 0,270 O70x2mm 1,154
D ®20x1,85mm | 0,285 ®80x2mm 1,320
®22x1,5mm 0,260 ®100x2mm 1,663
d25x2mm 0,390 ®120x3mm 1,154
d26x2mm 0,407
Aapapiveg Mepiypaer) | Description Mepiypagr) | Description
AAoupiviou (DxT) (DxT)

2000x1000x0.60 mm

2500x1250%x0.60 mm

2000x1000x0.80 mm

2500x1250x0.80 mm

2000x1000x1.00 mm

2500x1250%x1.00 mm

2000x1000x1.50 mm

2500x1250x1.50 mm

2000x1000x2.00 mm

2500x1250%2.00 mm

2000x1000x3.00 mm

2500x1250%x3.00 mm

2000x1000x4.00 mm

2500x1250x4.00 mm

2000x1000x5.00 mm

2500x1250x5.00 mm

2000x1000x6.00 mm

2500x1250x6.00 mm

2000x1000x8.00 mm

2500x1250%x8.00 mm

2000x1000x10.00 mm

2500x1250%x10.00 mm

2000x1000x12.00 mm

2500x1250x12.00 mm

2000x1000x15.00 mm

2000x1000x20.00 mm

ZNTAOTE Yag
TIMEG

- MITOPOYN NA KOINOYN KAI NA ENE=ZEPTAZTOYN KATOIIN NMAPATTEAIAZ
- EMIZHZ YITAPXOYN AAMAPINEZ TYNOY KPIOGAPAKI & MIMTAKAABQTO

H ETAIPIA MAZ AIAGETEI YINEPZYITXPQNO E=OIAIZMO 0OINQzx
2TPANTZA - WAAIAI - LASER NANTOIPA®O

48



KAGAPIZTIKA AAOYMINIOY /748 Aluminium

KaBapioTiké AAoupiviwv SCOOP

Kpepwdng aloigr). KaBapilel, yuaAilel kal eEOAEIPEI TIG YPATOOUVIEG,
TNV 0&eidwaon Kai TIG KNAideg oe péTaAAa. EidIkd yia TTépTES Kal
TTapdBupa aAoupiviou.

Aev a@rivel oTAPTTES Kal Ogv agailpei TNV yuaAdda atrd Tnv ETMIPAVEIQA.
Eyyunpéva kKaAo atrotéAeopa o€ Aiydtepo atmd 1 AeTTTo.

OAHIEZ XPHEHX:

- AvaKIvAOTE KOAQ TO JTTOUKAAI TTRiV TNV XprRon.

- EQappdoTe pia pikpry ToodtnTa 0TV ETTIPAVEIQ TTPOG ETTEEEPYOATIa.

- Tpiyte KOAG pe éva kaBapod TTavi yia va emTeuxOei TO €MOUUNTO
atroTéAeopa.

2uokeuaaia: 1000 gr -

KaBapioTikd AAoupiviwv NEW LINE

IAIOTHTEZ & EQAPMOIEZ

ATTOTEAECUATIKO TTPOIOV yIa TOV KABAPIOUO TWV ETTEEEPYATHEVWY UE NAEKTPOOTATIKNA
Baer aloupiviwy <oTTwG TTapdBupa, TTavTfoupid, YTTAAKOVOTTOPTEG K.T.A.

Agaipei AekEDEG aTrd Kauoagpia, AAaTa vepou, dIAPOPES EEPAUEVES ETTIKABIOEIG
eUKoAa Kal ypriyopa. Apaipei TTiong uttoAgippata KOAAAG atTd XapTOTAIVIEG,
TTAOOTIKEG TAIVIEG, KOBWG Kal UTTOAEIYpATA a@pou TToAuoupeBdvng, TTAGOTIKA
XPWHOTO OO0V dev £xel TTEpAoEl SIAOTNHA JayaAUTEPO Twv 2-3 nuepwv. |davikd
TTPOIGV yIa TOV KOBAPIOKUO GAOUNIVOKATAOKEUWY ANECWS PETA ATTO OIKOOOMIKES
EPYAOiEg KOTAOKEUNG, ETTIOKEUNG 1] OUVTAPNONG.

NEPIEXEI: Aiyotepo atrd 5% pn 10VIKEG KAl QVIOVIKEG ETTIQAVEIODPACTIKEG OUTIEG.

NMAEONEKTHMATA

- ‘Exel ypriyopn dpdaon kal dpioTo atmoTéEAEOUa KABAPIOPOU, O€ PIKTOUG AEKEDEG TTOU
TIPOKUTITOUV OTTO TNV Uypacdia TG aTHOoPaIpAg Kal AAAWY AITTApWV ETTIKABATEWV.

- Agv SlaBpwvel TIG ETTIPAVEIEG TWV OAOUUIVIWY Kal UTTOPET va XpnolpoTtroinBei yia
TEPIOBIKO KaBapIouo.

- A@aipei uttoAgippata KOAAQG atrd xapToTaIvieg, TTAACTIKES TAIVIEG
TToAUoUpPEBAvVNG, p.v.C.

- Agaipei (TiTaiAicparta atod Ta TTAACTIKA XPWHATA EVTOG 2-3 NUEPWV)

- 2UOKEUAOia o€ spray yia EUKOAIa 0Tn xpron.

2uokeuaaia: 500 ml -

Aluminium Cleaner Durostick

KaBapioTIKG uypo yio AAOUMIVOKATAOKEUES

ApaoTikd KaBapIoTIKG TTOU aalpei EUKOAQ, e éva TTEPACHA, PUTTOUG ATTO
Kauoaépla, aharta, Xpwuarta, AacTroBpoxr], Kabwg kal vwTrd (2-3 nuepwV TO TTOAU)
TITOINIOCUOTA TTAQOTIKWY XpWHATWY. Eival 1idaviko yia Xprion o€ KoUQwUaTa
aAoupiviou-dpRaga A TTEPACUEVA UE NAEKTPOOTATIKY Ba@r-Xwpig va aAAoIWVEL I
va eTTNPEACEl TO ApXIKO TOUG XPWHA.

2uokeuaaia: 500 ml -

49



—

® 2TIG TTapaTTavw TINEG dev TTepIAapBaveTal o O.I1.A.

® TpOTTOC TTANPWHMNG METPNTOIG

® Ta YETaPOPIKA ETTIPAPUVOUV TOV TTEAATN

® O TTapWV TINOKATAAOYOG KATAPYEI TOV TTPONYOUNEVO

® 310 TTPO@IA DeV yivovTal ETTIOTPOPES

® 210 £CAPTAMATA Ol ETTIOTPOPES Ba yivovTal KATOTTIV OUVEVVONONG

® Xpdovog TTapddoong KaToTTiv guvevvonong

® H cTaipia dev pépel Kapia euBuvn yia Tuxdv @BopEC attd TV JETaPopd

APIOMOZ AOTAPIAZMOY TPAMEZA MNEIPAIQE:
Ap. hoy.: 5242 0035 75529
IBAN: GR 22017 22420 00524 20035 75529

—

50



INDUS FRIAEAEUMINIUM PROEIEESYSTENMS

. AL b ) —=
T ' WV ) | | |
Systems Chassis Conveyors Machine A l I m I n I l I m
L]
Profile

/Frnslrn|=u=u:us

EMIMOPIA ZIAHPOY - AAOYMINIOY - T'YWOZANIAAZ - XPQMATQN
ZOBAAQN - INOX MANTOZ TYNOY - BIOMHXANIKA EPrAAEIA
(ZTPANTZA - WAAIAI - KYAINAPOZ - MTANTOIPA®OZ)

Aoor MEIMAPIAH O.E.

2tadiou 97 - Bépola
TnA.: 23310 23342 - 23178 / Fax: 23310 67869
www.meimaridis.gr | info@meimaridis.gr

pb
w@

I{m"’f VEGRO  ALUMINCO  ozpre

MODULAR CONSTRUCTION TECHNOLOGIES

KATAAOIOz
2019

e-mail: sales@aluminium-profile.gr //QLB
www.aluminium-profile.gr 3 \@




